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QUESTION 1

In order to test ClusterXL failovers which command would you use on one of the ClusterXL nodes to initiate a failover? 

A. clusterXL_admin down -p 

B. cluster XL_admin up -p 

C. cphaprob -d TEST -s ok register 

D. cphaprob -d TEST -s problem unregister 

Correct Answer: A 

Reference: https://sc1.checkpoint.com/documents/R76/ CP_R76_ClusterXL_AdminGuide/7298.htm#o97358 

 

QUESTION 2

Which of the following is NOT a special consideration while running fw monitor on production firewall? 

A. While executing fw monitor, you need to specify an expression so that it captures the required traffic instead of all
traffic 

B. While running fw monitor on a busy firewall, the –ci and –co switches can be used to limit the number of packets
captured 

C. While running fw monitor, it resets all the debug flags 

D. During a fw monitor, the firewall will have to process more packets because SecureXL acceleration should be
disabled 

Correct Answer: C 

 

 

QUESTION 3

What occurs when Bypass Under Load activated? 

A. Packets are forwarded to the destination without checking the packets against the firewall rule base 

B. Packets are forwarded to the destination without performing IPS analysis 

C. To still ensure a minimum level of data integrity, the system revert to the use of MD5 instead of SHA-1, since former
produces an output smaller than the latter 

D. The amount of the state table entries is decreased according to the LRU (least recently used) algorithm 

Correct Answer: B 

Reference: https://sc1.checkpoint.com/documents/R76/CP_R76_IPS_AdminGuide/12750.htm 
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QUESTION 4

In R80 spoofing is defined as a method of: 

A. Disguising an illegal IP address behind an authorized IP address through Port Address Translation 

B. Hiding your firewall from unauthorized users 

C. Detecting people using false or wrong authentication logins D. Making packets appear as if they come an authorized
IP address 

Correct Answer: D 

 

QUESTION 5

Which of the following file is commonly associated with troubleshooting crashes on a system such as the Security
Gateway? 

A. core dump 

B. CPMIL dump 

C. fw monitor 

D. tcpdump 

Correct Answer: A 
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